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1. (P) Foolishly Rama threw (Q) some water on
the electric heater (R) when it catches fire and

he got a shock. (S) No error
(SSC CAPF SlI, ASI Online Exam. 18.12.2016)

1. (3) R

The sentence shows Past Time. Hence, Past Simple
ie, when it caught fire and he got a shock is the right
usage
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2.(P) The conference was (Q)
attended (R) by more than one
hundred delegates. (S) No error (Ssc

CAPF S, ASI Online Exam. 18.12.2016)

2.(4) S No error
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3. (P) Jayesh loved his Guru immensely (Q) and
gave him full loyalty, (R) yet he have his own

independent way of thinking. (S) No error
(SSC CAPF SlI, ASI Online Exam. 18.12.2016)

3.(3)R

Here. Past Tense i.e. yet he had his
own independent way of thinking is the
right usage.
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4.(P) We have done everything (Q)
that could be done (R) to avert the
storm which is now coming on. (S)

No error

(SSC CAPF SI, ASI Online Exd
18.12.2016)

4. (1) P
Here, Past ie. we did everything is the
right usage.
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5.(P) | was pretty sure that (Q) he
would support me (R) for changing
the age-old and static structure of our

organization.(S) No error
(SSC CAPF Sl, ASI Online Exam. 18.12.20 8

5.(3) R

Purpose is evident. Hence, Infinitive i.e.
to change the age-old and static
structure is the right usage.
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6.(P) According to one survey (Q) only
those forests which were (R) not under
village management succumbed from

fires recently. (S) No error
(SSC CAPF SI, ASI Online Exam. 18.12.20%

6. (3) R It is Preposition related error.
Hence, succumbed to fires recently is the
right usage.
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7. (P) While Mahendra was away (Q) on
a long official tour (R) his office receive

an important letter which was marked

"Urgent'. (S) No error

(SSC CAPF SI, ASI Online Exam. 18.12.201 )

7. (3) R The sentence shows Past
Time. Hence, Past Simple i.e. his

office received an important letter

which is the right usage.



r@) SSC CGL/CHSL TIER 2 (CRASH COURSE)

8. (P) The house (Q) is built in an
(R) attractive manner. (S) No error

(SSC CAPF SI, ASI Online Exa
18.12.2016)

8.Q Here Passive of Present Perfect
should be used.

Hence, has been built in an, is the right
usage.
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9. (P) Sakshi wrote essay (9) so well
that (R) her teacher was very pleased

with her. (S) No error
(SSC CAPF SI, ASI Online Exam. 18.12.2§6
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9. (1) P Here, Definite Article-the i.e.
Sakshi wrote the essay is the right
usage.
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10. It is not difficult to forgive some one who says
SOorry.
(1)is apologising
(2) is asking sorry
(3) No Improvement
(4) apologises
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam, 06.12.2015 (Ist
Sitting) 10. (4) Apologise- to say that you are

sorry for doing something wrong.

Here, apologises is the right usage.




r@) SSC CGL/CHSL TIER 2 (CRASH COURSE)

11. A greedy man always hankers after

money.
(1)wanted

(2) greeds after

(3) No Improvement

(4) runs after
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam,
06.12.2015 (Ist Sitting)

11. (3) No Improvement Hanker after :

to have a strong desire for something.
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12. Be quick otherwise you would miss the train.
(1)otherwise you could have
(2) No Improvement

(3) otherwise you will

(4) otherwise you will have
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam, 06.12.2015 (Ist

Sitting)

12. (3) As the structure suggests,
Future Simple should be used here.
Hence, otherwise you will, is the right
usage.
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13. In spite of age he is my senior.

(1) He is my senior, in keeping with his age.
(2) He is my senior in regard of his age.

(3) No Improvement

(4) In respect of age, he is my senior.
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam, 06.12.2015 (lind

Sitting)

13. (4) In respect of- connecting

A writ was served on the firm in respect of
their unpaid bill. In respect of age, he is
my senior, is the right sentence.
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14. Rani has completed her graduation from a
reputed university last year.
(1)completed

(2) was completed

(3) No Improvement

(4) had been completed
(SSC CHSL (10+2) LDC, DEO & PA/SA Exam, 06.12.2015 (lInd
Sitting)

14. (1) Here, Past Simple i.e. completed is
the right usage.
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15. The aggressive response after the peace
summit made no sense of the call for moderation.

(1)made nonsense of
(2) made no sense to
(3) make no sense to

(4) No Improvement
(SSC CGL Tier-Il (CBE) Exam. 12.01.2017)

15. (1) Make (a) nonsense of something- to make
something appear stupid or wrong or to spoil something
Hence, made nonsense of should be used here.
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Q16. A speaker’s platform.
A. stage

B. stand

C. pulpit

D. podium

Ans. D
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Q17. Government by a ruler who has

unlimited power.
A. despotism

B. autocracy

C. monarchy

D. anarchy

Answer: Option B
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Q18. One who accepts pleasure

and pain equally.
A. thespian

B. sadist

C. stoic

D. humanitarian

Answer: Option C
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Q19. Person who directs preparation

of a newspaper.
A. instructor

B. auditor

C. editor

D. author

Answer: Option C
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Q20. A person learning a trade under

someone.
A. assistant
B. secretary

C. clerk
D. apprentice

Answer: (d) apprentice
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